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D<G5E>>= 6<4>>EF< 6 746<E<<>EF< >F F5<?5D4FGDO <7<5DO5<>= ED54O. 

&5D<><5FDO, >D><5 <E?>?=5=<O 9, 6O?>?=5=O 6 6<45 EF5>?O==>= >5>?>G>< >64?L=>= 

D>D<O E 74G65==>= =<6=5= G4EFLN < D575D6G4D><, =4?>?=5==O< F5D<><5FD<G5E>>= 6<4-

>>EFLN, > >>F>D><G ?D<E>54<=5=4 >4?<??OD=4O FDG5>4.  
&5D<><5FDO 6O?>?=5=O <7 EF5>?4 <4D>< 360 ?> ��%& 1224-71 <?< 4DG7>7> EF5>?4, 

>>F>D>5 ?> E6><< D<7<>>-E<<<G5E><< E6>=EF64< =5 EG65 G>474==>7>. �>D?GE F5D<><5FD4 
<E?.9 <77>F>6?5= <7 ?>?<EF<D>?4 ?> ��%& 28250-89. 
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1 
>F <<=GE 20  

4> ??NE 70 
206×26×16 0,017 

2 
>F <<=GE 20 4> 

??NE 70 
175×11,4×8,2 0,011 

3 
>F <<=GE 20 4>  

??NE 70 
Ø26×230 0,050 

4 >F 0 4> ??NE 100 175×11,4×8,2 0,011 

5 
>F <<=GE 30 4> 

??NE 30 
175×11,4×8,2 0,011 

6 
>F <<=GE 30 4> 

??NE 30 
Ø21×151 0,015 

7 (64D<4=F 1) 175×11,4×8,2 0,010 

   7 (64D<4=F 2) 

>F <<=GE 35 4> 

??NE 50 195×16×13,5 0,014 

8 
>F <<=GE 55 4> 

??NE 55 
Ø16×255 0,015 

9 
>F <<=GE 30 4> 

??NE 30 
148×22×7,5 0,010 
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>F <=F5D64?4 <7<5D5=<= 6=GFD< 4<4?47>=4 <7<5DO5<OE F5<?5D4FGD, º%: 

- >F <<=GE 55 4> <<=GE 38 º%: &&&&&&&&&&&&&..&&&&&&&&.. ± 2 

- E6. <<=GE 38  4> 0 º%: &&&&&&&&&&&&&&&&&............................. ± 1,5 

- E6. 0 4> ??NE 100 º%: &&&&&&&&&&&&&&&&&................................. ± 1 
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E-mail: office@vniims.ru, www.vniims.ru  
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